sin(arcctgx)="7 ctg(arcsinx)=?

arcctgx =t t 3 (0;P) tg(arcsinx)="7 arcsinx=t ta[-P/2;P/2]

1/sin?2t=1+ctg”2t arcsinx=t ta [-P/2;P/2] sint=x

sint=+-V(1/(1+ctg"2x)=+-V(1/(1+x"2) sint=x ctgt=+-V(1-sin"2t)/|sint|

sint=V(1/(1+x"2) 1+1/tg"2t=1/sin*2t npu t 3 [-P/2;0] ctgt<0 ctgt=
tg"2t=1/(1/sin*2t-1)=sin2t/(1-sin*2t) =-V(1-sin’2t)/|sint|=

cos(arcsinx)="7 tgt=+-V(sin"2t/(1-sin"2t))=+-V(x"2/(1-x"2)) | -V (1-x22)/|x|=V(1-x2)/x

arcsinx=t t o [-P/2;P/2] npu ta[-P/2;0] tgt<0 tgt=-V(x*2/(1-x"2))= npwu t 3 [0;P/2] ctgt>0 ctgt=

cost=+-V(1-sin2t)=+-V(1-x"2) =-|x|/V(1-x*2)=x/V(1-x"2) =V/(1-sin"2t)/|sint|=

cost=V(1-x"2) npu ta(0;P/2] tgt>0 tgt=V(x*2/(1-x*2))= V(1-x22)/|x|=V(1-x2)/x
=|x|/V(1-x"2)=x/V(1-x"2)

cos(arctgx)="7 ctg(arccosx)=?

arctgx=tto (-P/Z,P/Z) tg(arCCOSX)=? arccosx=t t3[0;P]

tgt=x arccosx=t t3[0;P] cost=x

1+tg"2 x= 1/cos”"2 x cost=x 1/ctg™2t=1/cos"2t-1=(1-cos"2t

cos t=+ V(1/(1+tg"2 t))=+_V(1/(1+x"2 1)) tgt=+-V(1/cos"2t-1)=+-V((1-cos"2t)/cos"2t) | )/cos 2t

cost=V(1/(1+x"2)) tgt=V((1-x"2)/x"2) ctgt=+-|cost|/V(1-cos2t))=
npu t 9 [0;P/2] tgt>0 tgt=V((1-x*2)/x"2)= =+-|x|/V(1-x"2))

cos(arcctgx)="? =V (1-x*2)/|x|=V(1-x"2)/x npu t3[0;P/2] ctgt>0

arcctgx=t to(0;P) npu t 3 (P/2;P] tgt<0 tgt=-V((1-x"2)/x"2)= | ctgt=|x|/V(1-x"2))=x/V(1-x2))

ctgt=x =-V(1-x"2)/|x|=V(1-x"2)/x npwu ta[P/2;P] ctgt<0

tgt=1/x ctgt=-|x|/V(1-x*2))=x/V(1-x"2))

cos t=+ V(1/1+tg"2 t)=+-V(1/(1+1/x"2))= tg(arcctgx)="

+-V(x"2/(x"2+1)) arcctgx=t t3(0;P) ctg(arctgx)="?

npu t a (0;P/2) cost>0 cost=V(x*2/(x"2+1)) |ctgt=x arctgx=t ta(-P/2;P/2)

=|x|/V(x*2+1)=x/V(x"2+1) tgt=1/ctgt=1/x tgt=x

npu t a [P/2;P) cost<0 cost=-V(x"2/(x*2+1)) ctgt=1/tgt="1/x

=-|x|/V(x*2+1)=x/V(x"2+1)




